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HWEBRER

1/3
IE 2 Al Al B % Bify %8 et 6 wE
ERET = 1
RIFERY #EHl m3 1,824.1 1,800
B ox Bkt mAL m3 8,347.0 8,300
TR E S (%L m3 1,824.1 1,820
Eith (%L m3 1,824.1 1,800
iR T = 1
TRy b ] t=50cm m3 1,655.0 1,660
EfE T REREAIE (28 ¢ 1000) x 1,023 1,023 E
h=7.4, 0.47t/m | X 158
h=7.6, 0.21t/m | &K 33
h=10.4, 0.40t/m| XK 537
h=13.8, 0.20t/m| X 22
h=16.7, 0.28t/m| X 64
h=17.8, 0.37t/m| X 209
tAVLE t 4,531. 4
HET QEHE) = 1
EELT K Y8 m3 770.8 770
#HRL AL m3 292.9 290 E
wy=4m m3 147.7
Tm=w;<4m m3 145.2
EEEIE m2 206. 4 210
% * FRE-EREx1. 11| m3 445.7 450
9=+ 24-12-25 (20) -55% m3 543.0 543
I jp m2 840.5 840
E5.3:71 SD345 D32~29 t 20. 201 20.20
E5.3:71 SD345 D25~16 t 33. 961 33.96
73] SD345 D13 t 2.795 2.80
E5.3:71 &t t 56. 957
g Lavyy-+ 18-8-40-60% [E&:10em m2 206. 4 210
LIy -+ BB m2 5.8
2 5 B RS #hm2 570.0 570




HWEBRER

2/3
I & i Al A A% By e FEEE HE
*x R CEUHEXR 2Zm3 1,000. 4 1,000
N A7 R bR ZEm3 26.7 30
B it VUEINZEH B it EBATA t=20mm | m 67.4 67
VUEINZEH A it #B4B t=100mm [ m 21.6 22
VUEINZEH A it #B4B t=200mm [ m 43.2 43
VUEINZEH B it 1A A b4 m 72.1 72
EHETIRERT QEHEE) = 1
= B BAZEREAs (13) [E & t=5cm m2 130. 2 130
TERE B4R (RC-40) E&:t=30cm | m2 130.2 130
Bt BEPREE T il z e m3 164. 8 160
HKHEEY B A ARV -MalE3TE 300 % 300 m 26.4 26
HeK BB 800 x 800 m 13.2 13
LEEIE 350 x 155 m 13.2 13
BEYERET = 1
L E Rl EHEE/E 15em m 11.4 11
SRR B m2 446.3 450
IvhY-HERIE Y-+ (B ) m3 17.3 17
A u0E TAI7IE m3 22.3 22
70 vy)-+ (B ER) m3 17.3 17
REET (TEMAER) E= " 1
Al m3 23.9 20
B+ ARt AL m3 627.4 630
RSt AL GERIE) | m3 23.8 20
SEEER YL m2 106.3 110
B+ B m3 547.6 550
BEYFIT E0RDF (RC-40) 24/= :30cm m2 972.0 970
REXT (B FERR) = 1
B+ ARt AL m3 31.6 30
SEEER il m3 6.0 10
BEYFIT E0RDF (RC-40) B4/= :30cm m2 217.0 220
T AY-+ m2 280.0 280
REXT (R E%KER) = 1
RIEQIE Al m3 18.6 20
BET $300 m 12.3 12




HWEBRER

3/3
I Al Al bR Bify = L= =
et T K38 m3 35.6 40
HREL RAL m3 13.7 10
741V5-%% RC-40 m3 15.9 20
%t EEIHER L x1. 11 m3 39.0 40
BEiam T B500-L500-H1000 E03id 3 3
B500-L500-H1100 [E03id 2 2
B500-L.500-H1400 [E03id 1 1
fREET (L1338 %) =
B o+ BREREE T AL m3 407.0 410
BERL AL m3 34.6 30
&L OKER) AL m3 225.2 230
= B BABEMEAs (13) [ & :t=5cm m2 433.0 433
TR B4R E (RC-40) JE = :1=30cm m2 450. 3 450
RE#R SMAER (RHR) W=15cm m 167.8 170
HkEEY Bk fli# 600 x 600 m 81.2 81
REED -1 L) RE- = m 81.2 81
A AR AR &%= bem m2 433.0 430
# S0 72770k m3 21.7 22
REEET
XBFES = 1
BT
FEERM S ARAE S A Hh AR o R4 = 1
1 a5 14 S ik REED -1 b=l = 1
B g EE
TEHER Ml O LGS H AR B’k 1 1
BREEAIEE =
TR T 2 2
LT AR Ay @19 L=1.0m| K 66 66
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RN R TR

(&4 : No. 15~No. 33]
I R 7 R B e HE
EERET =® 1
RIFIERY m3 1,824.1
BRIREEL mAL m3 8,341.0
FEtanE KEIKERE | m3 1,824. 1
At R T
TIRNLTy b Ba m3 1,655.0
E#E T I?ZEH;%?O%OI)E E&Eﬂﬁ 4~17.8m| & 1023 | (Gh)
h=7.4 X 158 25EHE
h=7.6 X 33
h=10. 4 X 937
h=13.8 X 22 | 35152156
h=16.7 X 64 | 3515 -A215E
h=17.8 X 209
AU LE t 4,531.4
RifTEEE
B ERIEE TR AT 0
TR Ayb19 L=1m | K 66
i AT 0
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m2 m2 m3

—_
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NO

NO
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NO

Ol VN]lo|loa]l]lw]DN

NO
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NO
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NO

o|lo|V]lo|lo]lb~]|w

12

NO
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NO

1
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NO
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NO

13

16

NO

13+09. 421

17

NO

14

18

NO

15

19

NO

16
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. 16+00. 633

21

NO

17+15.0
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NO

18

23

NO

18+15. 078

24

.19

25

NO

20

26

NO

21

21

NO

22

28

NO

23

29

NO

24

0. 000

175.1

30

.25

20. 000

163.9 169. 50 3,390.0

31

NO

26

20. 000

165.9 164. 90 3,298.0

32

NO

27

20. 000

0.0 82.95 1,659.0

33

NO

28

20. 000

0.0 0.00 0.0

34

.29

35

NO

30

36

NO

31

37

NO

32

op

8,347.0




TIHEE

B RT
_ Al iz REFERY TIRLTY
" e BEE | ek | tE | EEE | gah | i
m m2 m2 m3 m2 m2 m3

1 INO.O 0. 000
2 INO. 1 20. 000
3 [NO.2 20. 000
4 INO.2+11.212 11.212
5 |[NO.3 8.788
6 |NO.4 20. 000
7 INO.5 20. 000
8 |[NO.6 20. 000
9 |NO.7 20. 000
10 [NO.8 20. 000
11 [NO.9 20. 000
12 [NO. 10 20. 000
13 |NO. 11 20. 000
14 [NO. 12 20. 000
15 [NO. 13 20. 000
16 [NO. 13+09. 421 9.421
17 [NO. 14 10. 579 0.0 0.0
18 [NO. 15 20. 000 4.7 2.35 47.0 5.5 2.75 55.0
19 [NO. 16 20. 000 24.3 14. 50 290.0 15.5 10. 50 210.0
20 |NO. 16+00. 633 0.633 23.2 23.75 15.0 15.6 15. 55 9.8
21 |NO. 17 19. 367 4.3 13.75 266. 3 5.6 10. 60 205.3
22 |NO. 18 20. 000 3.8 4.05 81.0 5.4 5.50 110.0
23 |INO. 18+15. 077 15.077 3.5 3.65 55.0 3.3 4.35 65. 6
24 |NO. 19 4.923 1.7 2. 60 12.8 2.9 3.10 15.3
25 |NO. 20 20. 000 1.7 1.70 34.0 3.0 2.95 59.0
26 |NO. 21 20. 000 2.3 2.00 40.0 3.4 3.20 64.0
27 |NO. 22 20. 000
28 |NO. 23 20. 000
29 |NO. 24 20. 000
30 |NO. 25 20. 000
31 |NO. 26 20. 000
32 |INO. 27 20. 000
33 |NO. 28 20. 000
34 INO. 29 20. 000 3.6 4.4
35 |NO. 30 20. 000 6.6 5.10 102.0 8.4 6.40 128.0
36 [NO. 31 20. 000 3.4 5.00 100. 0 2.3 5.35 107.0
37 |NO. 32 20. 000 25.3 14. 35 287.0 19.7 11.00 220.0
37 |NO. 33 20. 000 24.1 24.70 494.0 20.9 20. 30 406. 0

& F 1,824.1 1,655.0
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E#ET

REBEANIE (28 ¢ 1000)

R [A# : No. 0~No. 33 - REEK]

. x| xmmpe | SHER | Tmmm | memmn | SO0, | E/ AR s
L R L R L R L R L R L R L R
h=5.7 0 0 0
h=6. 2 0 0 0 0 0
h=7.6 33 33
h=9.2 0
h=10. 4 180 189 67 101 537
h=17.8 119 90 209
INET 779
e R
3516 316
YEE A 11856 A21EE e &t
L R L R
h=7.4 158 158
h=13. 8 10 12 22
h=15.5 0 0 0
h=16. 7 20 9 24 1 64
h=18.0 0 0 0 0 0
/Nt 244
&% 1023
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AOEFRILHFER (BBIRK) HBRIBRIHER
[A#R : No.0~No. 33 - REHEK]
RIEIR S I (28h ¢ 1000=1. 5m2)
W RIE AH |HEIEE|HBEXG|HBETH|ZITER| ZBRR | EAR TEE
=] B K& i AV ME
FFmE
m x T.P T.P m m m m m3 kg/m3 kg
No.6+10 ~  No.8+10 3.4 5.8 5.3 -0.4 0.5 5.7 6.2 0.0 115.0 0.0
KHX 1
No.8+10 ~  No.10 3.4 5.8 5.3 -0.4 0.5 5.7 6.2 0.0 115.0 0.0
No.10  ~ No. 10+15 4.8 5.8 5.3 -0.9 0.5 6.2 6.7 0.0 115.0 0.0
K#X 2
No.12  ~ No.12+10 4.8 5.8 5.3 -0.9 0.5 6.2 6.7 0.0 115.0 0.0
No.0+10 ~  No.2+10 4.8 5.8 5.3 -0.9 0.5 6.2 6.7 0.0 115.0 0.0
KX ~
(3e 2 L) No. 2+10 No. 3+5 4.8 5.8 5.3 0.9 0.5 6.2 6.7 0.0 115.0 0.0
No.3+5 ~ No. 4 4.8 5.8 5.3 -0.9 0.5 6.2 6.7 0.0 115.0 0.0
No. 12410 ~ No.12+19 8.0 5.8 5.3 -12.7 0.5 18.0 18.5 0.0 125.0 0.0
& 3%%1_\ No. 12+14 ~  No.13+4 7.8 5.8 5.3 -12.7 0.5 18.0 18.5 0.0 125.0 0.0
A11BE
No. 12+17 ~  No.13+4 4.6 5.8 2.8 -12.7 3.0 15.5 18.5 0.0 107.0 0.0
No. 15+4 ~ No.15+10 4.8 10 6.2 2.8 -11.0 3.4 13.8 17.2 207.0 131.0 27,117.0
3%%1_\ No.15+6 ~ No.15+13 8.0 20 6.2 5.7 -11.0 0.5 16.7 17.2 501.0 187.0 93, 687.0
A21B5E
No.15+8 ~ No.15+15 6.8 9 6.2 5.7 -11.0 0.5 16.7 17.2 225.5 187.0 42,168.5
TALEER1-1 | No. 15+11  ~  No. 17+12 9.3 119 6.2 5.7 -12.1 0.5 17.8 18.3 3177.3 247.0 784,793.1
= IR AT X R - _
(d B R No. 29 No. 31 8.0 180 6.2 5.7 4.7 0.5 10.4 10.9 2808.0 267.0 749, 736.0
No.31+15 ~  No.32 8.0 27 5.8 5.3 -5.1 0.5 10.4 10.9 421.2 267.0 112, 460. 4
B/ RR[E1-1
No.32 ~  No.33 8.0 40 5.8 5.3 -5.1 0.5 10.4 10.9 624.0 267.0 166, 608. 0
No. 6 ~  No.7+10 3.4 5.8 5.3 -0.4 0.5 5.7 6.2 0.0 115.0 0.0
KHEX 1 No. 7410~  No.9+5 3.4 5.8 5.3 -0.4 0.5 5.7 6.2 0.0 115.0 0.0
No.9+5 ~  No.10 3.4 5.8 5.3 -0.4 0.5 5.7 6.2 0.0 115.0 0.0
No.10 ~  No.12 4.8 5.8 5.3 -0.9 0.5 6.2 6.7 0.0 115.0 0.0
KHEX 2
No.12  ~ No. 12+11 4.8 5.8 5.3 -0.9 0.5 6.2 6.7 0.0 115.0 0.0
No.0+15 ~ No. 1 4.8 5.8 5.3 -0.9 0.5 6.2 6.7 0.0 115.0 0.0
K¥EX _
(G ) No. 1 No. 3+10 4.8 5.8 5.3 0.9 0.5 6.2 6.7 0.0 115.0 0.0
No.3+10 ~ No.5 4.8 5.8 5.3 -0.9 0.5 6.2 6.7 0.0 115.0 0.0
No. 1249~ No.12+17 1.8 5.8 5.3 -12.7 0.5 18.0 18.5 0.0 125.0 0.0
S%L%A No. 12412~ No.12+18 4.6 5.8 5.3 -12.7 0.5 18.0 18.5 0.0 125.0 0.0
A 14858
=l No. 1249~ No.12+15 2.8 5.8 2.8 -12.7 3.0 15.5 18.5 0.0 107.0 0.0
No. 1541 ~  No. 15+7 4.6 12 6.2 2.8 -11.0 3.4 13.8 17.2 248.4 131.0 32,540.4
S%L%A No. 15+1 ~ No. 15+10 1.8 24 6.2 5.7 -11.0 0.5 16.7 17.2 601.2 134.0 80, 560. 8
A 2188
No. 15+3 ~ No. 15+10 5.8 1" 6.2 5.7 -11.0 0.5 16.7 17.2 275.6 134.0 36,930.4
TA;#ERXRT | No.15+9  ~  No.17 9.3 90 6.2 5.7 -12.1 0.5 17.8 18.3 2403. 0 247.0 593,541.0
B IR No.28  ~ No.28+15 6.2 33 6.2 5.7 -1.9 0.5 7.6 8.1 376.2 140.0 52, 668. 0
No. 28+15 ~ No.29+10 6.0 75 6.2 5.7 -4.1 0.5 10. 4 10.9 1170.0 267.0 312,390.0
B IR AT X _
(i3 1 BER P No. 29+10 No. 30+10 6.0 7 6.2 5.7 4.7 0.5 10. 4 10.9 1201.2 267.0 320, 720. 4
No.30+10 ~  No.31 6.0 37 6.2 5.7 -4.7 0.5 10. 4 10.9 571.2 267.0 154,112.4
H/ R No.31+15 ~ No.32+15 6.0 80 5.8 5.3 -5.1 0.5 10. 4 10.9 1248.0 267.0 333,216.0
(458 T B2 X )
1-1 No.32+15 ~  No.33 6.0 21 5.8 5.3 -5.1 0.5 10. 4 10.9 327.6 267.0 87,469.2
25 R 158 5.8 3.8 -3.6 2.0 1.4 9.4 1753.8 314.0 550, 693. 2
N 1023 4,531,411.8
& &[4 b2 ()=/Et+1000] 4,531.4
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[A4#2 : No. 0~No. 33 - RXZEER]

A Y MEMERLE

1.72)

REIRE NI (2% ¢ 1000)

ESE

KM KA1 KARR2 ML | vammm | omemzm | SEPEM @) mxe-
RIS
EIER 0.5 0.5 0.5 0.5 0.5 0.5
HEE 5.7 6.2 6.2 17.8 10. 4 10. 4
AR 6.2 6.7 6.7 18.3 10.9 10.9
WRE 50% 50% 50% 50% 78. 5% 50. 0%
HRLTE 0.0 0.0 0.0 3,177.3 2,808.0 1,045.2
SRRt EsETRE 190 240 240 350 1000 410
LA A#Emime - - - 530 600 600
LT ERME 115 115 115 130 150 150
BELTEHRME - - - 115 - -
EHELER - - - 5.5 2.7 2.7
HHELEE 5.7 6.2 6.2 4.0 1.7 1.7
BELIEE - - - 8.3 - -
SE¥EEFRINE 115 115 115 247 267 267
EIER 0.5 0.5 0.5 0.5 0.5 0.5 0.5
HEE 5.7 6.2 6.2 17.8 1.6 10. 4 10. 4
BEAR 6.2 6.7 6.7 18.3 8.1 10.9 10.9
WRE 50% 50% 50% 50% 50% 78. 5% 50. 0%
HRLTE 0.0 0.0 0.0 2403.0 376.2 2948. 4 1575. 6
SRRt EsETRE 190 240 240 350 390 1000 880
Rl A#ELHFNE - - - 530 - 600 600
LT ERME 115 115 115 130 140 150 150
BELTEHRME - - - 115 - - -
EHELER - - - 5.5 - 2.7 2.7
HHELEE 5.7 6.2 6.2 4.0 1.6 1.7 1.7
BELEE - - - 8.3 f B B
T ELAIFE 115 115 115 247 140 267 267
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AU MRMERIE (272)

[R#3 - 156 - WERE] TR AR (28h ¢ 1000)
M Agﬁ*g’a Aaf #’?ﬁ 25ER
XM R 9.0 10.0 7.0 6.0 7.0 7.0
EITHR 0.5 0.5 3.0 3.4 0.5 0.5 2.0
BRE 18.0 18.0 15.5 13.8 16.7 16.7 7.4
BEAR 18.5 18.5 18.5 17.2 17.2 17.2 9.4
BRE 83. 0% 88. 4% 87. 6% 83. 9% 83. 6% 87.8%
HRIE 0.0 0.0 0.0 207.0 501.0 225.5 1,753.8
i RETEERE 490 490 490 540 540 540 520
LBl AHELiime 700 700 - - 800 800 600
LA RINE 150 150 150 200 200 200 150
BEIEHRNE 80 80 80 90 90 90 -
ARETREE 0.4 0.4 - 0.4 1.1 1.1 2.7
HELEE 8.0 8.0 5.9 5.5 1.7 1.7 4.7
BELEE 9.6 9.6 9.6 8.0 8.0 8.0
EHEEFIRNE 125 125 107 131 187 187 314
B ™= Agﬁ*g’a Aaf 1’? =
XM R 8.0 6.0 6.0 6.0 9.0 7.0
EITHR 0.5 0.5 3.0 3.4 0.5 0.5
BRE 18.0 18.0 15.5 13.8 16.7 16.7
BEAR 18.5 18.5 18.5 17.2 17.2 17.2
BRE 82. 7% 88. 8% 87. 6% 87.2% 88. 8% 83. 5%
HRTE 0.0 0.0 0.0 248.4 601.2 275.6
i RETEERE 490 490 490 540 540 540
RAI| AHRELHANE 700 700 - - - -
FEPE T ERRE 150 150 150 200 200 200
BELTHRME 80 80 80 90 90 90
ARELERE 0.4 0.4 0.0 0.4 1.1 1.1
HHELEE 8.0 8.0 5.9 5.5 7.7 7.7
BELEE 9.6 9.6 9.6 8.0 8.0 8.0
TEHEEFIRME 125 125 107 131 134 134
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AT - EEMBER

[&#R : No. 0~No. 33)

BRI

E TR

Ay FARE

EHIm

A= L £
] (m) i) (L=1. 0m) (#77) s =
No. 10
No. 11+10.0
TR - LM
No. 18 g@iég;mﬂ
x #®
SETAR - Zhif
No. 21 N
TR - LM
No. 24 1.7 33 E%gafmn
TR - LM
No. 26 1.8 33 E%gafmn
& &t 0 66 0
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25 HE BMEEHE (1/2)

I iE & Al oA - BB B H = W E
fEELT ERiE AfEH: H<5.0m m° -
B4EHE : H=5.0m m° 770.8
BERL FERIA:  W,24m m’ 147.7
FERIB: W;=4m m® -
fE3IC: TM=W,<4m m® 145.2
BRID: W, <Im m’ -
EEEE m? 206.4
FHT avyy—k 0 ck=24N/mm? m° 543.0
— 3R m? 840.5
5 SD345 D32 t 2.771
D29 t 17.430
D29~D32 &t t 20.201
D25 t 15.905
D22 t 2.681
D19 t 0.000
D16 t 15.375
D16~D25 &t t 33.961
D13 t 2.795
&t t 56.957
#HLavyy—k 0 ck=18N/mm? t=100mm m? 206.4
HLavyy—rE R m? 5.8
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25 HE BMEEEHFE (2/2)

I iE & Al oA - R B H = W E
RIBT B RS H=30m fhm? 570.0
BRI (BIUHEEXR H=<30.0m Zem® 1000.4
IMMTHR—FFZ R FHH<40m Zem® 26.7
VUENGEHRERT BrE RISEHA  t=20mm m 67.4
Brm RIS S4B t=100mm m 21.6
BT R84 B t=200mm m 43.2
1HIAAEHE B #h m 72.1
HEANERT =B BEFRHEAS(3) t=5cm m? 130.2
TREBRE B4 RARC-40) t=30cm m? 130.2
REREE L BEL m? 164.8
HekT B520 X H500 (E-EH3EH) m 26.4
B890 x H800 m 13.2
LEMEE m 13.2
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25 RE-FELT

E Al

R

2 OE R

5
i

FR1E

A%Big : H<5.0m

AL ]S

B :H=5.0m

ERZR Im AR

V= 47.2%3.109/2

73.372

BRR X

V= 47.2%¥13.200

623.040

ERZR Im AR

V= 47.2%3.151/2

74.364

2V= 770.776

770.78 m°

_19_




25 RE-FELT

E Al

% it 75 A B E
HERL
FERIA:W2=4m
R mER
V= 47.2%¥3.109/2 = 73.372
R IR
V= 47.2%¥3.151/2 = 74.364
YV= 147.736| 14774 m®
FERIB:W1=4m
ZUEL
FERIC:
TM=W1<4m
EHEEXE
V= 11.0%13.200 = 145.200| 14520 m®
FERID:W1<1m
SRMEL
HEmEEIE
HLavy)—tEE
A= (15.200+0.200)*13.404 = 206.422| 206.42 m*
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25 EE- T TIRHE

T T 8 X

fAlmEE
3100 13200 3151
(EELA (BELO) (BELA
—1
HRBRE
V7119
1700 1700
3109 13200 3151
R BAIER) (FEiE BRI S) (B BRI
PRI
\
' BiE
| A=47. 2nt
| smmmes o7 100 o
y Pl
! , / gg
| 7 @ ™
I 1
\_noow 15200 _moJ
HERLA
N
! LA
, A=47. 2nf
| =, =
| RREE: V] 100 | _
, / 2
- - P 3
Ve [ L
T
L1700 | 15200 H,,ITUOJ
HERLC

|

i BRthEE: V] 19
I

+-

15200 R
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25 R -JRAT

E

R

2 OE R

i

avy)—k

0 ck=24N/mm?

[EhR

V= 15.200%13.200%0.900 = 180.576

Al EE

V= 5.900%13.200+0.900%2 = 140.184

i

V= 13.200%5.900*0.500 = 38.940

1&hR

V= 15.200%13.200%0.700 = 140.448

TRhRL7—

V= 15.200*0.152/2%13.200 15.249

TERR/\F

V= 0.400+0.400/2*13.200%4 = 4.224

& - 20

V= (0.420+0.425+0.418+0.423)/4%15.484*0.500

3.263

wE-E0

V= (0.311+0.300+0.313+0.302)/4%15.484*0.400

1.898

D427 - EO K

V= (1.200*2+5.997+6.075)/4+(6.000+6.097)/2%0.500

10.942

V427 - EOA

FL

Y NFEO

V= 0.509*0.500/2%5.172 = 0.658

_22_




25 R -JRAT

E Al % Tt ' K B8

a4 - A0EH

V= (1.300%2+3.000+3.051)/4%(2.600+2.678)/2%0.4 = 2.283

a5 -A0AH

V= (1.500%2+4.000+3.946)/4%(3.600+3.522)/2%0.4 = 3.898

G N\F- A0

V= 0.407%0.400/2%(2.420+3.415) = 0.475

YV= 543038 543.04 m°
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25 R -JRAT

Al ps EL R S =
— AR T4

fRIE% 5} E
A= 7.500%13.200%2 = 198.000
R EOER
A= -0.509%(7.5-(1.921+1.845)/2) = -2.859
BR-o420N\FEDO
A= -0.509%5.172 = -2.633
B B0EA
A= -0.407%(7.500~(4.813+4.760)/2) = -1.104
B > E0A14
A= -0.407%(7.500~(3.802+3.854)/2) = -1.495
BR-D120 N\ FAO
A= -0.407%(2.420+3.415) = -2.375
RIEEAmE
A= (5.900-0.400)*13.200%4 = 290.400
TEhR T E
A= ((4.600+8.300)-0.400*4)*13.200 = 149.160
TBhR/ N\ TF

#1Eb:1.414] A= 0.400%1.414%13.200%4 = 29.864
EREEERR
A= (15.484%7.500—(4.686+8.455)*5.900)%2 = 77.196

#116:1.019] A= 0.400%1.019%0.400/2+8 = 0.652
hE-£A0
A= (0.418+0.423)/2%15.484 = 6.511
A= (0.420+0.425)/2%15.484 = 6.542
A= (0.425+0.423)/2%0.509 = 0.216
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25 R -JRAT

ZE Al R & o A B 2
ME-A0
A= (0.313+0.302+0.311+0.300)/4+15.484%2 = 9.492
L7 —
A= —15.4840.152/2%2 -2.354
42 - O
A= (1.200+5.997)/2%6.000 = 21.591
A= (1.200+6.075)/2%6.097 = 22.178
A= (1.200+(7.684+17.808)/2)*0.5 = 4.473
4> - EOAH
L
BR-o420 N\FEO
A= -0.509%5.172 = -2.633
YA FNTFEO
A= 0.648%5.172 = 3.351
A= 0.509%0.500,/2 = 0.127
D127 - A0OEA
A= (1.300+3.000)/2%2.600 = 5.590
A= (1.300+3.051)/2%2.678 = 5.826
A= (1.300+(3.106+3.199)/2)*0.4 = 1.781
PR a1k
A= (1.500+4.000)/2%3.600 = 9.900
A= (1.500+3.946)/2%3.522 = 9.590
A= (1.500+(4.383+4.288)/2)*0.4 = 2.334
bl SR O A =1
A= -0.407%(2.420+3.415) = -2.375
P Z AV =18
A= 0.518%2.420+0.629%3.415 = 3.402
A= 0.407%0.400/2%2 = 0.163
YA= 840511 84051 m’
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25 R -JRAT

& Al B it 'R =
7] SD345 |

D32 1458 kg
D29 17430 kg
D25 15905 kg
D22 2027 kg
D19 0 kg
D16 14934 kg
D13 1635 kg

oA ER
D32 1313 kg
D29 0 kg
D25 0 kg
D22 254 kg
D19 0 kg
D16 361 kg
D13 487 kg

oA a0
D32 0 kg
D29 0 kg
D25 0 kg
D22 400 kg
D19 0 kg
D16 80 kg
D13 673 ke

|t
D32 2771 kg = 2771t 2.771
D29 17430 kg = 17430 t 17.430
D25 15905 kg = 15905 t 15.905
D22 2681 kg = 2681 t 2.681
D19 0 kg = 0.000 t 0.000
D16 15375 kg = 15375 t 15.375
D13 2795 kg = 2795 t 2.795
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25 R -JRAT

2 Al & it &5 R B E
HwLaryy—k
:
/
wam
I
13404
O‘ [ J"
T 2, ‘ =
S
|
| f
T
— = =
ol o /
S S g
2 S SE | I—
D & I
f# _____
){‘
/
U | o
o i ‘
i 9‘ f
s/
/
0 ck=18N/mm?
t=100mm| A= (15.200+0.200)*13.404 = 206.422| 206.42 m*
LAy —hE
A= (15.688+13.404)%0.100%2 = 5.818 582 m?
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25 R -JRAT

E R EL I S-S £

i

BimT

I
i 48

50@ L=10730
_ B 1 123355?200
PR S
H=30m|Vs>4 - EO LM

A= (7.921+7.918)/2%5.393 = 42.710
D42 - &N

A= (7.923+7.925)/2%21.581 = 171.008
A= 7.500%(8.820+10.730) = 146.625
PE AL =1"

A= (7.811+7.800)/2%21.684 = 169.254
o424 -A0 EAl-G4E

A= 7.813%2.032+7.802%3.149 = 40.445

> A= 570.042 570.04 #m?
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25 R -JRAT

E R ELE S % E
XRT
RUHEEXRE
H=30.0m|K%E

V= ((4.600+8.300)*5.900-0.400%0.400/2%4)*13.200

= 1000.428

1000.43 =z’

INATHR—ZR

FHH<40m|V12T7 - EO LA
V= (4.8+1.921%2+4.878+1.845%2)/4%(6.0+6.097)/2*0.5 = 13.012
PEOZAT AL =] ]
L
AT N F-EO
V= 0.509%0.500/2%2.328 = 0.296
D42 - B0 EH
V= (1.7+4.813%2+1.751+4.760%2)/4%(2.6+2.678)/2*0.4 = 5.963
PR OZRE =1L =1 ]
V= (2.5+3.802%2+2.446%2+3.854)/4*(3.6+3.522)/2%0.4 = 6.712
YAV G N F- /O
V= 0.407%0.4/2x(5.080+4.085) = 0.746
V= 26.729|  26.73 =o'
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25 R -JRAT

& Al RO it ' K =
VUEINGEHEBH T
VUENGFHEBETEREKY
ik 3
N= 2 [El50
GRS
N= 4 50

T E R8P A A

t=20mm| L= 21.800+45.600 67.400 67.40 m

T E R 8041 B

t=100mm| L= 21.600

21.600 21.60 m

i E R 18 &0 41 B

t=200mm| L= 43.200

43.200 4320 m

1HIAAEHE B i

L= 24.264+47.864

72.128 7213 m

_30_




& Al RO it ' K =
B i BRI
15200 ,
900 4600 500 8300 900
2400
g { of |
) =1 gl =1 =)
;@ ' 40 10%) 100
| |
als ) 4080 760 5780
B3 2 390| 45 2
|
oFH-1. 400
gl |
|
A=12. 483’
(4. 058+8. 425)
=E
BEZHIEAs
t=5cm| A= (4.080+5.780)*13.200 = 130.152 130.15
TERE
BEFARC-40)
t=30cm| A= (4.080+5.780)*13.200 = 130.152 130.15
BREREE L
BEEIFEA= 12483 m’
A= 12.483%13.200 = 164.776 164.78
BT
B520 X H500
(Z-HEMA)|L= 13.200%2 = 26.400 26.40
B890 X H800
L= 13.200 = 13.200 13.20
LEAI;E
B350 X H155(L= 13.200 = 13.200 13.20
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(A8 : No.0~33 - SEEEE)

BEMBEIRERHR

& = A A bR Bl % E W=
BEYHET
EEYERELT
ST B3 (As) t=50 m 11.4
SHEERRERIE L B3 (As) t=50 m2 446.3
Bk EMBET
FAHEK BRI E UF300 m 103.5
" UF350 m 17.5
" UF600 m 34.6
" B500 x H500 m 70.0
" B500 x H900 m 23.2
EHRALEE T
SOE R TRI7IL iR m3 22.3
" = el ¥ m3 17.3
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BEYNES S VIER (&) HE

A§&E - No. 0~32
UF300 FH/KERIEE
NO Biia ~ BT k46| EE (&R &=
1 27 + 13.8 | ~| 30 + 17.3 92.
2 31 + 127 |~ 31 + 16.1 11.
INET 103.
&3 103.
UF350 FH/KERIEE
NO Biia ~ BT a8 EE (&R &=
1 31 + 13.6 | ~| 31 + 16.4 17.
INE 17.
&3 17.
UF600 FRHEKRIEBE
NO Biia ~ BT a8 EE (&R &=
1 31 + 45|~ 31 + 11.1 34,
INEE 34.
=5t 34.
UZY-B500 x H500 FHHE/KIB#E
NO BsA ~ ®’T 46| R (Bf) &=
1 15 + 0.3 |~ 17 + 9.4 10.
INEE 10.
=5t 70.
UZY-B500 x HO00 FHHE/KIB#E
NO BsA ~ ®’Y 46| EER (BR) &=
1 14 + 0.2 |~ 14 + 145 | A 23.
INEE 23.
= 23.

_34_




OEWMET [K#R : No. 0~33- REEK]
1. BEHR N

Q7 A7 7IL R (FEE t=50mm)

BHE
T EIRREZE BRRE R
( 343.4 + 102.9 )x 0.050 = 22.3 m3
@avyy)—Frik
i ER (@) | BlumeE | ) tE |
m m3 m3
UF300 103.5 0.025 2.6
UF350 17.5 0. 031 0.5
FAHEK B UF600 34.6 0.086 3.0
500 x 500 70.0 0.103 1.2
500 x 900 23.2 0.174 4.0
a5t 17.3
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BEuH=ErtE&ES
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& UF300,350,600 (Y EE Ay — &5
] 5 1
- - BHHEFFEEW -
B&
UBZ1)a—L
UF-B()-H()
|
T % R
m s | s | n| TR | [PEER oy g
UF300 310 | 275 32 150 | 125 0.025
UF350 360 | 315 35 175 | 140 0.031
UF600 640 | 500 | 60 | 300 | 200 0. 086
'ooAl Al #o® R S
a2 ) —RERIEL
UF300 0.025 x 1.000 0.025 m3
UF350 0.031 x 1.000 0.031_m3
UF600 0.086 x 1.000 0.086_m3
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L0 U 500 X 500 b4 L g B S =5
1% L HBugEdHEEQ) 1m4
B&
UZY-B500 x H500
65 500 65
WY)-MEREFE A=0. 103m2
oAl WAl iF 5 A HE
a9 —REEL HEEY 0.103 X 1.000 0.103 m3

_38_




A U 500 x 900

B L kb B Sl s
1% L BiuHgEHEEQ) 1m4
B

U#2-B500 % H900

0 500 0

900

95

WY)-MREE A=0. 174m2

A WA

'8 H #

el

a9 —REEL HEEY 0.174 % 1.000

0.174 m3
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[A#R : No. 15~No. 33]

RE& T

THES

I ¥ Rl Bl R % Bl #HE i E
R T
TEAER
#ERIT —T LiEHI m3 23.9
BAELTT T EAER m3 627. 4
DT T BERERE T m3 23.8
BRAA LT EEER 17t m2 106.3
ELEH(TER m2 547.6
R FIT B F RC-40, t=300 m2 972.0
MERER
#ERIT —7 LiEHI m3
BAELT HERER m3 31.6
ZOMELT BERFEE T+ m3 -
BRAA LT EEER 1t m2
ELEH(TER m2 6.0
R FIT BHbF RC-40, t=100 m2 217.0
TRL—F PP, 2. Om x 25| m2 280.0 | 3v7° 0. 6m
R R HE KR
RIEAE m 312.7
fE%1T PRIE Y REZF/KER (RIEY) | m3 18.6
BET fEEPEE ¢ 300 m 12.3
fE%(xT PRAE Y m3 35.6
HELC m3 13.7
»Aa RC40 m3 15.9
1R 5% A 53 7k Bt B500-L500-H1000 (5178 3
B500-L500-H1100 " 2

B500-L500-H1400
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REXT-EWE T [A#R:NO. 0~NO. 33]

L&
- Al Jisks |EI(A—Tho k)
" e BEE | ek | tE | WEE | ook | tE
m m2 m2 m3 m2 m2 m3

1 [NO.O -

2 [NO. 1 20. 000

3 |NO.2 20. 000

4 INO.2+11.212 11.212

5 [NO.3 8.788

6 [NO.4 20. 000

7 [NO.5 20. 000

8 |NO.6 20. 000

9 [NO.7 20. 000

10 [NO.8 20. 000

11 [NO.9 20. 000

12 [NO. 10 20. 000

13 [NO. 11 20. 000

14 [NO. 12 20. 000

15 [NO. 13 20. 000

16 [NO. 13+09. 421 9. 421

17 [NO. 14 10.579 0.0

18 [NO. 15 20. 000 0.0 0.00 0.0
19 [NO. 16 20. 000 0.5 0.25 5.0
20 |NO. 16+00. 633 0.633 0.5 0.50 0.3
21 |NO. 17 19. 367 0.7 0. 60 11.6
22 |NO.18 20. 000 0.0 0.35 1.0
23 |NO. 18+15.078 15.078 0.0 0.00 0.0
24 INO. 19 4.922 0.0 0.00 0.0
25 |NO. 20 20. 000 0.0 0.00 0.0
26 |NO. 21 20. 000 0.0 0.00 0.0
27 |NO. 22 20. 000 0.0 0.00 0.0
28 |NO. 23 20. 000 0.0 0.00 0.0
29 |NO. 24 20. 000 0.0 0.00 0.0
30 |NO. 25 20. 000 0.0 0.00 0.0
31 |NO. 26 20. 000 0.0 0.00 0.0
32 |NO. 27 20. 000 0.0 0.00 0.0
33 |NO. 28 20. 000 0.0 0.00 0.0
34 |INO. 29 20. 000

35 |NO. 30 20. 000

36 |NO. 31 20. 000

37 |NO. 32 20. 000

& F 23.9
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REXT-EWE T [A#R:NO. 0~NO. 33]

Bt=E
Jisks BAET (TERERE) BT (BHERER)
B&5 B ’ w5 — ‘ 5 —
BTEE W E S TE BEE WS TE
m m2 m2 m3 m2 m2 m3
1 [NO.O -
2 [NO. 1 20. 000
3 |NO.2 20. 000
4 INO.2+11.212 11.212
5 [NO.3 8.788
6 [NO.4 20. 000
7 [NO.5 20. 000
8 |NO.6 20. 000
9 [NO.7 20. 000
10 [NO.8 20. 000
11 [NO.9 20. 000
12 [NO. 10 20. 000
13 [NO. 11 20. 000
14 [NO. 12 20. 000
15 [NO. 13 20. 000
16 [NO. 13+09. 421 9. 421 2.3 1.3
17 [NO. 14 10.579 3.4 2.85 30.2 0.5 0.90 9.5
18 [NO. 15 20. 000 3.1 3.25 65.0 0.5 0.50 10.0
19 [NO. 16 20. 000 2.1 2.60 52.0 0.3 0. 40 8.0
20 |NO. 16+00. 633 0.633 2.2 2.15 1.4 0.4 0.35 0.2
21 |NO. 17 19. 367 1.7 1.95 37.8 0.0 0.20 3.9
22 |NO.18 20. 000 2.2 1.95 39.0 0.0 0.00 0.0
23 |NO. 18+15.078 15.078 2.2 2.20 33.2
24 INO. 19 4.922 2.2 2.20 10.8
25 |NO. 20 20. 000 2.4 2.30 46.0
26 |NO. 21 20. 000 2.4 2.40 48.0
27 |NO. 22 20. 000 2.4 2.40 48.0
28 |NO. 23 20. 000 0.0 1.20 24.0
29 |NO. 24 20. 000 2.4 1.20 24.0
30 |NO. 25 20. 000 2.4 2.40 48.0
31 |NO. 26 20. 000 2.4 2.40 48.0
32 |NO. 27 20. 000 2.4 2.40 48.0
33 |NO. 28 20. 000 0.0 1.20 24.0
34 |INO. 29 20. 000
35 |NO. 30 20. 000
36 |NO. 31 20. 000
37 |NO. 32 20. 000
& F 627. 4 31.6
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REXT-EWE T [A#R:NO. 0~NO. 33]

EtE
- Al Jisks BEBFRE L
" e BEE | ek | tE | WEE | ook | tE
m m2 m2 m3 m2 m2 m3

1 [NO.O -

2 [NO. 1 20. 000

3 |NO.2 20. 000

4 INO.2+11.212 11.212

5 [NO.3 8.788

6 [NO.4 20. 000

7 [NO.5 20. 000

8 |NO.6 20. 000

9 [NO.7 20. 000

10 [NO.8 20. 000

11 [NO.9 20. 000

12 [NO. 10 20. 000

13 [NO. 11 20. 000

14 [NO. 12 20. 000

15 [NO. 13 20. 000

16 [NO. 13+09. 421 9. 421 0.5

17 [NO. 14 10.579 0.6 0.55 5.8
18 [NO. 15 20. 000 0.2 0. 40 8.0
19 [NO. 16 20. 000 0.2 0.20 4.0
20 |NO. 16+00. 633 0.633 0.2 0.20 0.1
21 |NO. 17 19. 367 0.2 0.20 3.9
22 |NO.18 20. 000 0.0 0.10 2.0
23 |NO. 18+15.078 15.078

24 INO. 19 4.922

25 |NO. 20 20. 000

26 |NO. 21 20. 000

27 |NO. 22 20. 000

28 |NO. 23 20. 000

29 |NO. 24 20. 000

30 |NO. 25 20. 000

31 |NO. 26 20. 000

32 |NO. 27 20. 000

33 |NO. 28 20. 000

34 |INO. 29 20. 000

35 |NO. 30 20. 000

36 |NO. 31 20. 000

37 |NO. 32 20. 000

& F 23.8

_44_




1=

RI-EELT [A#R:NO. 0~NO. 33]

HKI (KRIEY)
S P . M Bk t8 — T i=
. M = . M EH =
m m2 m2 m3 m2 m2 m3

1 INO.O -
2 |NO.1 20. 000
3 |NO.2 20. 000
4 NO. 2+11.212 11.212
5 |NO.3 8.788
6 [NO.4 20. 000
7 [NO.5 20. 000
8 |NO.6 20. 000
9 ([NO.7 20. 000
10 [NO.8 20. 000
11 [NO.9 20. 000
12 [NO. 10 20. 000
13 |NO. 11 20. 000
14 [NO. 12 20. 000
15 [NO. 13 20. 000
16 |NO. 13+09. 421 9.421 0.2
17 [NO. 14 10.579 0.1 0.15 1.6
18 [NO. 15 20. 000 0.1 0.10 2.0
19 [NO. 16 20. 000 0.1 0.10 2.0
20 [NO. 16+00. 633 0. 633 0.2 0.15 0.1
21 INO. 17 19. 367 0.1 0.15 2.9
22 |NO. 18 20. 000 0.0 0.05 1.0
23 [NO. 18+15.078 15.078
24 INO. 19 4.922
25 [NO. 20 20. 000
26 |NO. 21 20. 000 0.2
27 |NO. 22 20. 000 0.1 0.15 3.0
28 [NO. 23 20. 000 0.0 0.05 1.0
29 |INO. 24 20. 000 0.2 0.10 2.0
30 [NO.25 20. 000 0.0 0.10 2.0
31 [NO. 26 20. 000 0.1 0.05 1.0
32 [NO. 27 20. 000
33 [NO. 28 20. 000
34 INO. 29 20. 000
35 [NO. 30 20. 000
36 |NO. 31 20. 000
37 |NO. 32 20. 000

At 18.6
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1=

RI-BWAL L [AERNO. 0~NO. 33]

TEREBR-UILE
- 1,5 Fizks xR (B) mtLER (B
AR iR SRETE AR THER RETE
m m m m2 m m m2

1 INO.O -
2 |NO.1 20. 000
3 |NO.2 20. 000
4 NO. 2+11.212 11.212
5 |NO.3 8.788
6 [NO.4 20. 000
7 [NO.5 20. 000
8 |NO.6 20. 000
9 [NO.7 20. 000
10 [NO. 8 20. 000
11 [NO.9 20. 000
12 [NO. 10 20. 000
13 |NO. 11 20. 000
14 [NO. 12 20. 000
15 [NO. 13 20. 000
16 |NO. 13+09. 421 9.421 0.8
17 [NO. 14 10.579 0.0 0.00 0.0 0.4 0.60 6.3
18 [NO. 15 20. 000 0.0 0.00 0.0 0.4 0.40 8.0
19 [NO. 16 20. 000 0.0 0.00 0.0 0.6 0.50 10.0
20 [NO. 16+00. 633 0. 633 0.4 0.20 0.1 0.6 0.60 0.4
21 INO. 17 19. 367 0.6 0.50 9.7 0.0 0.30 5.8
22 |NO. 18 20. 000 0.0 0.30 6.0 0.0 0.00 0.0
23 [NO. 18+15.078 15.078 0.0 0.00 0.0
24 INO. 19 4.922 0.0 0.00 0.0
25 [NO. 20 20. 000 0.2 0.10 2.0
26 |NO. 21 20. 000 0.8 0.50 10.0
27 |NO. 22 20. 000 0.6 0.70 14.0
28 [NO. 23 20. 000 0.0 0.30 6.0
29 |INO. 24 20. 000 0.4 0.20 4.0
30 [NO.25 20. 000 0.2 0.30 6.0
31 [NO. 26 20. 000 0.4 0.30 6.0
32 [NO. 27 20. 000 0.4 0.40 8.0
33 |NO. 28 20. 000 0.0 0.20 4.0
34 INO. 29 20. 000
35 [NO. 30 20. 000
36 |NO. 31 20. 000
37 |NO. 32 20. 000

N B 15.8 90.5

ERAE 106. 3
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RERT-EMAE EF [AER:NO. 0~NO. 33]

TEREBR-HIH
- 1,5 Fizks BiER (K) EiER (B
AR iR T8 AR THER TE
m m m2 m3 m m2 m3

1 INO.O -
2 |NO.1 20. 000
3 |NO.2 20. 000
4 NO. 2+11.212 11.212
5 |NO.3 8.788
6 [NO.4 20. 000
7 [NO.5 20. 000
8 |NO.6 20. 000
9 [NO.7 20. 000
10 [NO. 8 20. 000
11 [NO.9 20. 000
12 [NO. 10 20. 000
13 |NO. 11 20. 000
14 [NO. 12 20. 000
15 [NO. 13 20. 000
16 |NO. 13+09. 421 9.421 0.6
17 [NO. 14 10.579 0.4 3.1 1.85 19.6
18 [NO. 15 20. 000 0.0 0.20 4.0 2.6 2.85 57.0
19 [NO. 16 20. 000 0.5 0.25 5.0 1.2 1.90 38.0
20 [NO. 16+00. 633 0. 633 0.2 0.35 0.2 1.2 1.20 0.8
21 INO. 17 19. 367 0.2 0.20 3.9 0.7 0.95 18.4
22 |NO. 18 20. 000 0.0 0.10 2.0 1.0 0.85 17.0
23 [NO. 18+15.078 15.078 1.1 1.05 15.8
24 INO. 19 4.922 1.7 1.40 6.9
25 [NO. 20 20. 000 2.1 1.90 38.0
26 |NO. 21 20. 000 2.3 2.20 44.0
27 |NO. 22 20. 000 2.7 2.50 50.0
28 [NO. 23 20. 000 0.0 1.35 21.0
29 |INO. 24 20. 000 2.4 1.20 24.0
30 [NO.25 20. 000 2.5 2.45 49.0
31 [NO. 26 20. 000 2.7 2.60 52.0
32 [NO. 27 20. 000 2.4 2.55 51.0
33 |NO. 28 20. 000 0.0 1.20 24.0
34 INO. 29 20. 000 0.0 0.00 0.0
35 [NO. 30 20. 000 0.0 0.00 0.0
36 |NO. 31 20. 000 0.0 0.00 0.0
37 |NO. 32 20. 000 0.0 0.00 0.0

N B 15.1 532.5

ERAE 547.6
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1=

RI-BWAL L [AERNO. 0~NO. 33]

HHEFER-E L8
- 1,5 Fizks BiER (K) EiER (B
AR iR T8 AR THER TE
m m m2 m3 m m2 m3

1 INO.O -
2 |NO.1 20. 000
3 |NO.2 20. 000
4 NO. 2+11.212 11.212
5 |NO.3 8.788
6 [NO.4 20. 000
7 [NO.5 20. 000
8 |NO.6 20. 000
9 [NO.7 20. 000
10 [NO. 8 20. 000
11 [NO.9 20. 000
12 [NO. 10 20. 000
13 |NO. 11 20. 000
14 [NO. 12 20. 000
15 [NO. 13 20. 000 0.0 0.0
16 |NO. 13+09. 421 9.421 0.0 0.00 0.0 0.6 0.30 2.8
17 [NO. 14 10.579 0.0 0.00 0.0 0.0 0.30 3.2
18 [NO. 15 20. 000 0.0 0.00 0.0 0.0 0.00 0.0
19 [NO. 16 20. 000 0.0 0.00 0.0 0.0 0.00 0.0
20 [NO. 16+00. 633 0. 633 0.0 0.00 0.0 0.0 0.00 0.0
21 INO. 17 19. 367 0.0 0.00 0.0 0.0 0.00 0.0
22 |NO. 18 20. 000 0.0 0.00 0.0 0.0 0.00 0.0
23 [NO. 18+15.078 15.078
24 INO. 19 4.922
25 [NO. 20 20. 000
26 |NO. 21 20. 000
27 |NO. 22 20. 000
28 [NO. 23 20. 000
29 |INO. 24 20. 000
30 [NO.25 20. 000
31 [NO. 26 20. 000
32 [NO. 27 20. 000
33 |NO. 28 20. 000
34 INO. 29 20. 000
35 [NO. 30 20. 000
36 |NO. 31 20. 000
37 |NO. 32 20. 000

I H 0.0 6.0

ERAE 6.0
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BEYMES L VIR (B RE

[A#3:No. 15~No. 33]

TEHRER
NO Btk ~ BT k& | EE (ERD &%
1 15+ 156 | ~| 17 + 9.8 | & 34. 0| R&3
2 13 + 8.6 |~]| 16 + 46 | A 56. 0| AR #x
3 16 + 8.9 |~ 22+ 17.6 | & 137.0| »
4 23 + 50| ~| 27+ 15.3 | & 97.0(
AERET 324.0 m
INET 324.0
=X 324.0
HHERER
NO Btk ~ ’T kR | EER (&R =
11 13+ 05|~ 16+ 11.7| A& 70. 0| A 43
INET 70.0
=k 70.0
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BEYMES L VIR (B RE

[A#3:No. 15~No. 33]

R 5% A BEK S (GR1E Y BEKER)

NO Fiia ~ BT 6| ER (&) fiE#
1 16 + 01 |~ 17+ 121 | & 31. 5| K#R

21 13 + 1.2 |~ 16 + 144 | & 66. 8| AR

3|1 16 + 124 |~ 22 + 13.0 | » 128. 4| »

4 [ 23 + 8.7 |~ 2] + 8.0 | 86.0[

ARt 312.7 m

INET 312. 1

=k 312. 17
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B oM OF T
(A% : No.0~No.33] T EMHEK

TERER
3549 4000
500 3000 500
) R {5
7. " /RC-40, t=300
e 18.3 / o
e [ B e -~ \ h

17 55 P KBS (R RY)

TERERER L 3240 m  (CKEHRQKLYEHE)

DFIE t= 0.300 m
i B = 3.000 m
1= EES Bl e
BEDF
BHF  RC-40, t=300
miE| A = 324 x  3.000 =| m2 972.0
tREE| V= 9720 x  0.300 =| m3 291.6
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BT T
[R#R - No. 13+0.5~16+11. 7 (51 ] #4EFERR

FERER TERER
4000 1000 4000 .
500 3000 500 500 3000 5o$
3200
B F IR
RC-40, t=100
#1555
o \—’*1

DL=5.0
/4;:71(*‘/-}2000
T RY-b I RY-+2000

MERERER L

PP, 2. Om x 23 B e o

70.0 m  CREFROQKYETL)
0.100 m
i) EhR
FiE B =( 3.000 + 3.200 )/2 = 3.100 m

BHE t

2B EES B ] BE
R R
EEF| RC-40, t=100
| A= 70.0 x 3.100 = m2 217.0
wiEl( V= 217.0 x 0.100 = m3 21.7
AR — bk PP, 2.0mx 25| (597" £0. 6m)
| A= 70.0 x 4.000 = m2 280.0
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R E&HEK R (1)
[A#R : No. 0~No. 32 - XEER] RIEY

iR &R

N Q
o -1
DL=5.0 "
o
300
F1E Y KR
ERWKBEE L= 3127n  OKEEBBLYEHL
s CES ] HE

R R BE KB
FIEYHOKER |XEKRIEYFIRBIFFELIICTEE
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RExBEKEE HEHR

[A#R : No. 15~No. 33 - AT EEK]
AipEH  No. 0~No. 33
I*E $E%IJ %B%IJ ﬁ{i No. 15+19. 7 | No. 13+6. 87 | No. 22+13. 3 INEH
(Z 4D (B4 (=1 "
e SES At
REE ¢ 300 m 5 ) 5 ) 6 3
PRI m3 25.7 2.7 7.2 35. 6
fERLT 2R m3 1.8 1.9 13.7
773
&L | ™ 1. 1 1.4 3.4 15.9
REEK
B &R A =28 (v2 & F
K INE
I
r SES At
BREE ¢ 300 m 193
R m3 25 6
F¥ELTT HR m3 139
773
BT m3 5.9
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BEYNES L VER (BF) HAE
[ :No. 0~No. 33- 32 =& K]
EEPEE ¢ 300
NO Bfih ~ BT kA | EER (B ik
1 15+ 135 |~] 15+ 194 | & 8. 2| AR
2 13 + 54 | ~| 13 + 6.7 A 1. 5| &5
3 22 + 13.6 | ~| 22 + 15.7 " 2.6|n
AREt 12.3 m
INET 12.3
=5 12.3
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BEYMES L VIR (EFT)

[A#5:No. 0~No. 33- T = E K]

##ea (B500-B500-H1000)

NO b ~ BT 5| ER (&R BEE
1 21 + 15.0 yod 1 iR
2 13 + 6.8 =1 1 iR
3 22 + 13.3 =1 1 "
AfREt 3 E
INET 3
&5t 3
BEfE it (B500-B500-H1100)
NO BHth ~ ®_T k5| ER (&R k=3
1 20+ 17.6 pl 1 KR
2 23 + 8.4 A 1 AR
/NEE 2
= 2
BEfE it (B500-B500-H1400)
NO BHth ~ ®_T k5| ER (&R k=
1 15 + 19.7 pl 1 KR

/INET

PA
= A
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A2 :No. 10+0. 6

R E&HEK R (1)
(ZE 48 f B HE K R (B ZEPEE ¢ 300)

ZA#% :No. 10+0. 6 () R R HE/K R

B3040 ERER LI=1.516
500 x 500 1000 |
i EL=5.499
ﬁ%&ﬁﬁlbﬂ% %1@ Y) ‘ P 4 . 3}{ %
00 )‘/ 4 Z
DL=5.00 \ V7 ;

HEBEMIER L2-1. 366

EL=5. 485

iR 12ORL - EEERIER L3=2. 466

S H=A/L3=1.39/2. 466=0. 564m

S 3 gy 0% B
g "= g L F S
KB 2R L - EEEMIE # % (RC40) HEEH
B1=1300 A=1.02m2 B1=1300
EER L1 = 1.516 m
EBHMER L2 = 1.366 m
FRIE-HIER L3 = 2.466 m
EHEREYS H= 0.564 m
1= EES Bl e
BE2EPEE ¢ 300
BER L= 1.516 m 1.516
EELT
RIEY
miE| A= 1.300 x  0.564 m2 0.733
{K3&| V= 0.733 X 2.466 m3 1.8
A (RC40) V= 1.020 x 1.366 m3 1.4
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5% BE/K % (2)

A#R :No. 15+19. 7 (ZE 1A IR ExHE K (BFEPEE ¢ 300)

4 :No. 15+19. 7 (ZE4R) {RER HEK B

ERER L18.198

777 /777/777/77777

/////////M /// ////// it
77‘
—+ /. //// / V4 .
. ‘ 7 // 7 JZ@ /ﬁ/ .
= w
5*@///////¢
w ]
HHER L1 = 8.198 m
EBHMEREL2= 7.848 m
KRiE-thZERK L3 = 9.198 m
FEHEREYS H= 1.397 m
2B EES B ] BE
EEPEE ¢ 300
EER L= 8198 = m 8.198
EELTT
FRYE Y
mfE| A=( 1.300 2.697 ) =+ 2 X 1.397 = m2 2.792
K&l V= 2792 9.198 = m3 25.7
HRLC
miE| A=( 2.172 2.697 ) =+ 2 X 0.525 = m2 1.278
A&l V= 1.278 9.198 = m3 11.8
#24 (RC40) V= 1410 7. 848 = m3 11.1
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5% BE/K % (4)

AR :No. 13+6. 87 (G 1) IR 3% HEK s (BFEREPEE ¢ 300)

7% :No. 13+6. 87 (F1AI) 1R FRBEKER

EL=5. 419

DL=5.00

FERER L1=1.520

bEd)

500 % 500 x 1000

g

X/‘L&EFFH#JF? % (RIEY)

i

i

ERHEE 121,970 |

R -1BHR L - EEEMILR L3=2.470

5 H=A/L3=2. 04/2. 470=0. 826m

v: s o S
% i %6 5F °
FRIE- 18R L - S E IR B4 (RC40) EEEH
B1=1300 A=1. 02m2 B1=1300
EER L1 = 1.520 m
HEEMERL2= 13710 m
RIE-hEZER L3 = 2.470 m
EHEREYS H= 0.826 m
1= EES Bl e
BE2EPEE ¢ 300
BER L= 1.520 = m 1.520
EELT
RIEY
miE| A= 1.300 x 0.826 =| m2 1.074
{K3&l V= 1.074 x 2.470 =] m3 2.1
A (RC40) V= 1.020 X 1.370 = m3 1.4
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5% BE/K % (5)

A#R :No. 22+13. 3 (B 1A IR ExHE K (B ZEPEE ¢ 300)

bi37kvad

Z#R:No. 22+13. 3 (R 1A 1R B&HEKER

ERER L1=2 555

500 x 500 X 1000
///7 S5
B 1 S5 A_‘sz///\/\\/?
% /4/ (L
// /4?!7 F(=5/383 % / 7/é/t\< _ FL=5.375
¢ GIASIIII N
VAL L L LA T
\/ﬂ‘ o //,///////,/,/,
DL=5. 00 j
al V' /A
‘ SRR 122, 405
FRE SR L BERRIER 133,505
F157% A/L3-3.89/3. 506=1. 110n
AR BRI
82=2410 B3=2410

538

4
77

300

H1=1110

1110

25 2
H‘W'@E:éﬁﬁgﬂ%‘g B1=1300
EER LT = 2555 m
EWMER 2= 2.405 n
PRYE-fhiER L3 = 3.505 m
TIORBYE H= 1.110 m
AE A= B | HE
IEZEPEE ¢ 300
&EE |L= 2555 =| m | 2555
e T
B
EiE| A=( 1.300 + 2410 ) + 2 x 1.110 =] m2 2.059
{K%&| V= 2.059 x  3.505 =| m3 1.2
BELC
EiE| A=( 2.172 + 2410 ) + 2 x 0238 =| m2 0. 545
{K%&| V = 0.545 x  3.505 =| m3 1.9
4 (RC40) V= 1410 x  2.405 =| m3 3.4
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REEHEKER BEiig= (1)

[A#R : No. 0~No. 33- X ZE ] #efis (B500-L500-H1000)

=

#%88HRE (B500-L500FR)
740

5 8 7 — 8 mRmE RRY) g
T |
e JLJ_L
FRARPE 6 300 B2
A KB
i1 $EKEHE:B500 x L500 x H()
E?Hz%% b1 500 b1
FRAEPE 6300 ::{ | s crm o
TE ‘ ]
] gm{mmo) T =
B2
ERBSKN THE - UER 17 24y
SFi&E (nm) HEX
% 8 | =R | @M |RETen] RRE
B L H H1 b1 B1 B2 h Uck:":?iN/mmZ " ,,12 & ®
% #5#i :B500-L500-H1000 500 500 | 1000 | 1150 | 150 800 900 150 0.425 5.358 0.810 2 1
& #5#i :B500-L500-H1100 500 500 | 1100 | 1250 | 200 900 | 1000 | 200 0. 693 6.378 1.000 2 1
& #5#i :B500-L500-H1400 500 500 | 1400 | 1550 | 200 900 | 1000 | 200 0.918 8.058 1. 000 3 1
&Y N= 1T &
ZRREE
00300 %300 A1= 0.300 x 0.300 = 0.090 m2
RERPEE 6300 A2= 0.150 x 0.150 X b = 0.071 m2
2B EES B ] BE
KAEE LT THIFREEPEE ¢ 3001 TEHLE
19~ (o ck=18N/mm2)
MR Vi=  0.800 x 0.800 X 1.150 =| m3 0. 700
=Rk (HAEB) | V2= 0.500 x 0.500 X 1.000
+ 0.090 x 0.150 m3 0.264
R () | V3= 0.071 x 0.150 m3 0.011
wy-pst| V={ 0.700 — ( 0.264 + 0.011 )} x 1 =| m3 0.425
mi
¥toh Al A= 0.800 x 1.150 X 4
—( 0.090 + 0071 ) m2 3.519
BAAIl A2= 0.500 x 1.000 X 4
—( 0.090 + 0071 ) m2 1.839
BgEt) A=C 3519 +  1.839 ) x 1 m2 5.358
i+ (RC40, t=150] A = 0.900 x 0.900 X 1 =| m2 0.810
T # £ (B16-1800)
IN= 2 = @ 2
#=8M 4% 2 (B500-L500/)
N= 1 = % 1
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REEHEKEE BEli= (2)
(A% : No.0~No. 33- T8 8] 61 (B500-L500-H1100)

B1 80453 (B500-L500FR)
b1 500 b1 240

o
T
o 5 o
=8 - 8| mRmmAEREY)
- |
L =l L

BEIRPE ¢ 300 B2

740

fRE A5 Kt

Em
ﬁ?}l;%% b1 500 b1
B EEPE ¢ 300 ‘ ﬂiJr ﬁ!?ﬁt?}iﬂé(iﬁm
| L 7@ =3 -
gmﬂmcm) ~ =
RS K HER - BEXR EGEER
stk (mm) HEX
B B Y-+ ik EiH | BENTEY | BMRE
B L H H1 b1 B1 B2 h Uck:"!léN/mmZ " mz & ®
45 ¥t - B500-L500-H1000 500 500 | 1000 | 1150 150 800 900 150 0.425 5.358 0.810 2 1
45 ¥t - B500-L500-H1100 500 500 | 1100 | 1250 | 200 900 | 1000 | 200 0. 693 6.378 1.000 2 1
45 ¥t - B500-L500-H1400 500 500 | 1400 | 1550 | 200 900 | 1000 | 200 0.918 8.058 1.000 3 1
1EFT&HY N= 1 &
wRRETE
0300300 A1= 0.300 X 0. 300 = 0.090 m2
FEEPEE 300 A2= 0.150 x 0.150 X T = 0.071 m2
2B EES B ] BE
MAEE T TH(IREEPEE ¢ 300 TEHL
avh)-+ (o ck=18N/mm2)
WAL Vi=  0.900 x 0.900 X 1.250 = m3 1. 000
=i (MPER) | V2= 0.500 x 0.500 X 1.100
4+ 0.090 x 0.200 m3 0.293
ERR (&6 E) | V3= 0.071 x 0.200 m3 0.014
avhy-rEH| V={ 1.000 — ( 0.293 + 0.014 )} x 1 = m3 0.693
pily o
#woLall A= 0.900 X 1.250 X 4
—( 0.090 + 0.071 ) m2 4.339
WAl A2= 0.500 X 1.100 X 4
—( 0.090 + 0.071 ) m2 2.039
s A-( 4339 + 2039 ) x 1 m2 6.378
E 4 (RC40, t=200] A = 1.000 X 1.000 X 1 = m2 1. 000
B #T+5% (B16-L800)
IN= 2 = @ 2
#5 40 = (B500-L500)
N= 1 =| ® 1
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(AR

REEHEKEE Bz 3)

No. 0~No. 33- 3 Z B %] HEk#t (B500-L500-H1400)

=

#%884R 2 (B500-L500F8)
740

s 8 :;:; : 8| mamuke (=EY) g
L :
= ——— JLJ_L
5 22PE ¢ 300 B2
A
i1 5541 B500 x L500 x H ()
ﬁ?rl;%% b1 500 b1
HESEPE 500 ‘ ﬂi% A R )
| L 7@ =3 -
R
ERASKS THE - UEX V@AY
<+ () HER
8 Dt | mG | Amt |RET2N| BERE
B L H H1 b1 B1 B2 h ack—":?iN/mmZ mz mz & ®
45 ¥t - B500-L500-H1000 500 500 | 1000 | 1150 | 150 800 900 150 0. 425 5.358 0.810 2 1
45 ¥t - B500-L500-H1100 500 500 | 1100 | 1250 | 200 900 | 1000 | 200 0. 693 6.378 1.000 2 1
45 ¥t - B500-L500-H1400 500 500 | 1400 | 1550 | 200 900 | 1000 | 200 0.918 8.058 1.000 3 1
1@y N-= 1T @&
ZRREE
0300 x 300 A1= 0.300 x 0.300 = 0.090 m2
BE2EPEE ¢ 300 A2= 0.150 x 0.150 X T = 0.071 m2
0.3
2B EES B ] BE
XIEELT T HIIMEEPEE ¢ 30012 TEHE
avh)-+ (o ck=18N/mm2)
WKl Vi= 0.900 x 0.900 X 1.550 = m3 1. 300
=i (MPER) | V2= 0.500 x 0.500 X 1. 400
4+ 0.090 x 0.200 m3 0. 368
Rk (R E) | V3= 0.071 x 0.200 m3 0.014
avhy-rEH| V={ 1.300 — ( 0.368 + 0.014 )} x 1 = m3 0.918
w4
waMEIl AT= 0.900 X 1. 550 X 4
—( 0.090 + 0.071 ) m2 5.419
#R{EIl A2=  0.500 X 1. 400 X 4
—( 0.090 + 0.071 ) m2 2.639
s A-( 5.419 +  2.639 ) x 1 m2 8. 058
E 4 (RC40, t=200] A = 1.000 X 1. 000 X 1 = m2 1. 000
E#T<E9 (B16-L800)
IN= 3 = @ 3
#5 40 = (B500-L500)
N = 1 = ® 1
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gL 25 B =E5E
I & 4l A - FRAE X % BAL =S " =
* I % K B £ m3 407.0
B’ B % t m3 34.6
TEKBELT m3 225.2
i = I & B I | BEEHEAS3I) m2 4330 t= 5cm
T B & I | BEI7v/r—74(RC-40) m2 450.3 | t=30cm
X [} w5 @ #R | FEE-8 W=15cm m 167.8
B oK B & u & @l g B600 x H600 m 81.2
1= s I | {RE&EH-FPL-N m 81.2
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B B | F25WEL YELER [ L=86.6m
YIIEERE 6000
500 5000 5001130 @ =5 e
100 100 Bt m | 4.7
RIS BEELR m | 0.2
IxExVrakt BB L) m | 0.2
300600300 HEKEBELT m |26
4 ‘ % . /;/
‘\"\' | } l '/.5 )
‘ HE K
X B I BAZFHEAO3)  t= bom
TRE#IT BE57991-75RC-40 t=30cm
FERI 5 g = ==X H=
T+ T
23737 3n V= 47 x 866 = 407.020 m3 407.0
BEELR) V= 02 x 866 = 17.320
BEELWL) V= 02 x 866 = 17.320
TV = 34640 m3 34.6
KRR V= 26 x 866 = 225160 m3 225.2
HET
x B A= 50 x 866 = 433.000 m2 433.0
TRk A= 52 x 866 = 450.320 m2 450.3
V= 450320 x 03 = 135.096 m3 135.1
XE#RT
FEH#E-8-W=15cm
s¢ Al £ L= 866 + 812 = 167.800 m 167.8
(4MED  (AMED
HEKHEEY
B600 X H600
UZLEIE L= 812 m 81.2
RERHEEY
{REEN M L—
R EXGr L= 81.2 m 81.2
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